RGN

HREAT: VT FRE S 2
HHRIZHR:  2024-32090002-00122
5 HEHIES AN T G| B ST | BIBERST | LRG| B IRETIIA | RGN | L5 RS

1 | 3209000224092800323 Ig‘éiﬁgfg? = 92 72
2 | 3209000224092800324 Iﬁgﬁgég =% 76 63
3 | 3209000224092800325 Iﬁgﬁgég =% 81 83
4 | 3209000224092800326 Ig‘éiﬁgfg? = 98 83
5 | 3209000224092800327 Iﬁgﬁgég =% 83 80
6 | 3209000224092800328 Iﬁgﬁgg? =% 70 81
7 | 3209000224092800329 Ifgﬁgé\? = 69 77
8 | 3209000224092800330 I%ﬁgé% =& 88 82
9 | 3209000224092800331 Ifgﬁgég =g 71 67
10 | 3209000224092800332 Iﬁgﬁgég =% 67 78
11| 3209000224092800333 Iﬁgﬁgég =g 91 61
12 | 3209000224092800334 Iﬁgﬁgg? = 89 81
13 | 3209000224092800335 I%ﬁgfg? =% 75 78
14 | 3209000224092800336 Iﬁgﬁgég =% 76 60
15 | 3209000224092800337 Iﬁgﬁgﬁ =% 84 71
16 | 3209000224092800338 Iﬁgﬁgg? =g 70 81
17 | 3209000224092800339 Iﬁgﬁgég =% 82 70
18 | 3209000224092800340 Iﬁgﬁgég = T4 70
19 | 3209000224092800341 I%ﬁgfg? =79 77
20 | 3209000224092800342 I%ﬁgé\? =& 8l 83
o1 | 3200000224002800343 | - ALLER AR =% 80 83
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=
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86
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3209000224092800360
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=%
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64

39

3209000224092800361
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GLAE R

=%

60

61




	成绩确认表

